Maths – Half term homework.
Try some of the following questions. You do not need to do them all but try to do some from each section.
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Try a few of these. Challenge yourself!
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Answers below.
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Counting in 4s, 8s, 50s and 100s
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Complete the following sequences:

a)_ 8121620 ___ f)__ 64 56 __ 40 32

b)64 56 __ 40 __ 24 g) 350 400 ___ 500 ___ 600
c)__ 100 150 200 ___ 300 h)1100 __ 800 700 600
d)900 __ __ 600 500 400 i) _ 84807672

e)56 __ 6468 __ 76 j)80 88 112 120




image3.png
Continue the following sequences:

k)4 8 12

)8 16 24

m) 50 100 150

n) 100 200 300

0) 80 84 88

p) 1250 1200 1150

q) 164 136 128

r) 1500 1400 1300

s) 124 120 116





image4.png
1. Can you fill in the missing numbers in these pieces snipped from number squares?
Don't forget you can have number squares that are bigger than 0-100

2. 3.
36 42
45 46 16 17 62
6. 7
88
103
146 204
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2. Look at the amounts these children have saved. How much would they have if they spent £10 or if
they saved £10 more?

2. 3.
-£10 £37 +£10 £13 £48
5. 6.
£93 £109 £131
7 8.

£10 £198
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